
 
 
       
 
  
  
  
 
          
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
               
  
 
  
       
 

 
 
REV. F         REV. F   REV. F 
082319                                    24700INST                 082319               24700INST           082319                      24700INST 

INSTALLATION INSTRUCTIONS 
EXTENDED OIL PUMP PICKUPS 

  P/N 24700, 24750, 24760, 24766, 24800 
 
These pickups are to be used with Moroso Oil 
Pan Numbers: 
 
   19570, 20710, 20730             Use 24700 Pickup                      
   19580, 20760 Wedge Engines         Use 24750 Pickup 
   19580, 20760 Hemi Engines            Use 24800 Pickup 
    20765               Use 24760 Pickup 
    20766 Pan                                       Use 24766 Pickup 
 
All of these pickups have a pipe thread on one 
end which screws into the stock oil pump or 
block. The pickup must screw in a minimum of 
(4) threads for proper retention. Due to 
manufacturing tolerances, it may be necessary to 
increase the thread in the oil pump or block. Use 
a 3/8” NPT tap, (1/2-NPT tap for 426 Hemi), and 
increase the thread the required amount. Be 
absolutely sure to clean out any debris created 
from tapping the hole. To prevent leakage 
around these threads, we highly recommend the 
use of Loctite to secure the pickup in place. 
 
PARTS LIST USED ONLY ON P/N 24700 
 

1 Oil Pump Pickup, Clear Zinc 
1 Washer F M .509ID .870OD .120T 
1 Nut, 3/8-24 Serrated Face, Grade 5 
1 Spacer, .87 IN. OD x .50 IN L x .19 IN W 
1 Nut, 1/2-20 HH Blk Ox Grade 8 
1 Stud, 1/2-20 & 3/8-24Mult. Threads 

            
 
  

INSTALLATION INSTRUCTIONS 
EXTENDED OIL PUMP PICKUPS 

  P/N 24700, 24750, 24760, 24766, 24800 
 
These pickups are to be used with Moroso Oil 
Pan Numbers: 
 
   19570, 20710, 20730             Use 24700 Pickup                        
   19580, 20760 Wedge Engines         Use 24750 Pickup 
   19580, 20760 Hemi Engines            Use 24800 Pickup 
   20765               Use 24760 Pickup 
   20766 Pan                                        Use 24766 Pickup 
 
All of these pickups have a pipe thread on one 
end which screws into the stock oil pump or 
block. The pickup must screw in a minimum of 
(4) threads for proper retention. Due to 
manufacturing tolerances, it may be necessary 
to increase the thread in the oil pump or block. 
Use a 3/8” NPT tap, (1/2-NPT tap for 426 Hemi), 
and increase the thread the required amount. Be 
absolutely sure to clean out any debris created 
from tapping the hole. To prevent leakage 
around these threads, we highly recommend the 
use of Loctite to secure the pickup in place. 
 
PARTS LIST USED ONLY ON P/N 24700 
           

1 Oil Pump Pickup, Clear Zinc 
1 Washer F M .509ID .870OD .120T 
1 Nut, 3/8-24 Serrated Face, Grade 5 
1 Spacer, .87 IN. OD x .50 IN L x .19 IN W 
1 Nut, 1/2-20 HH Blk Ox Grade 8 

      1 Stud, 1/2-20 & 3/8-24Mult. Threads  
 
  
          
    
  

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

 
MOROSO PERFORMANCE PRODUCTS, INC 

80 CARTER DR • GUILFORD, CT 06437 
Phone: (203) 453-6571 • Fax: (203) 453-6906 

V I s I t U s A t w w w . m o r o s o . c o  

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906 

 I s I t U s A t w w w . m o r o s o . c o m  

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906 

      V I s I t U s A t w w w . m o r o s o . com   

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

 
MOROSO PERFORMANCE PRODUCTS, INC 

80 CARTER DR • GUILFORD, CT 06437 
Phone: (203) 453-6571 • Fax: (203) 453-6906 

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906 

V I s I t U s A t w w w . m o r o s o . c o m   V I s I t U s A t w w w . m o r o s o . c o m  

INSTALLATION INSTRUCTIONS 
EXTENDED OIL PUMP PICKUPS 

   P/N 24700, 24750, 24760, 24766, 24800 
 
These pickups are to be used with Moroso Oil 
Pan Numbers: 
 
   19570, 20710, 20730             Use 24700 Pickup                         
   19580, 20760 Wedge Engines         Use 24750 Pickup 
   19580, 20760 Hemi Engines            Use 24800 Pickup 
   20765               Use 24760 Pickup 
   20766 Pan                   Use 24766 Pickup 
 
All of these pickups have a pipe thread on one 
end which screws into the stock oil pump or 
block. The pickup must screw in a minimum of 
(4) threads for proper retention. Due to 
manufacturing tolerances, it may be necessary to 
increase the thread in the oil pump or block. Use 
a 3/8” NPT tap, (1/2-NPT tap for 426 Hemi), and 
increase the thread the required amount. Be 
absolutely sure to clean out any debris created 
from tapping the hole. To prevent leakage around 
these threads, we highly recommend the use of 
Loctite to secure the pickup in place. 
 
PARTS LIST USED ONLY ON P/N 24700 
               
      1 Oil Pump Pickup, Clear Zinc 

1 Washer F M .509ID .870OD .120T 
1 Nut, 3/8-24 Serrated Face, Grade 5 
1 Spacer, .87 IN. OD x .50 IN L x .19 IN W 
1 Nut, 1/2-20 HH Blk Ox Grade 8 
1 Stud, 1/2-20 & 3/8-24Mult. Threads 


	P/N 24700, 24750, 24760, 24766, 24800
	PARTS LIST USED ONLY ON P/N 24700

	P/N 24700, 24750, 24760, 24766, 24800
	PARTS LIST USED ONLY ON P/N 24700

	P/N 24700, 24750, 24760, 24766, 24800
	PARTS LIST USED ONLY ON P/N 24700
	For Technical Assistance, Call Moroso’s Tech Line at
	For Technical Assistance, Call Moroso’s Tech Line at
	For Technical Assistance, Call Moroso’s Tech Line at
	V I s I t U s A t w w w . m o r o s o . c o m
	V I s I t U s A t w w w . m o r o s o . c o m
	V I s I t U s A t w w w . m o r o s o . com


	MOROSO PERFORMANCE PRODUCTS, INC
	80 CARTER DR ( GUILFORD, CT 06437

	MOROSO PERFORMANCE PRODUCTS, INC
	80 CARTER DR ( GUILFORD, CT 06437

	MOROSO PERFORMANCE PRODUCTS, INC
	80 CARTER DR ( GUILFORD, CT 06437

	MOROSO PERFORMANCE PRODUCTS, INC
	80 CARTER DR ( GUILFORD, CT 06437

	MOROSO PERFORMANCE PRODUCTS, INC
	80 CARTER DR ( GUILFORD, CT 06437
	V I s I t U s A t w w w . m o r o s o . c o
	I s I t U s A t w w w . m o r o s o . c o m


